TNPSC GROUP - 1 MAIN
PAPER - I: UNIT - III

Format & Presentation Sequence for
General Mental Ability

15 MARKS
TIME & WORK

1. P can do a work in the same time as Q and R together. Also P and Q
together can do the same in 12 days. R alone does in 60 days. In how many
days can Q do it alone?

o  Gauemevenuwt Q-ayb R Gaibg  Gsuiugnd  9168x GhriHsed  P-uimed
Gauiwppud.  P-up Q-eyb Gabgh 968% GCauewevenws 12 BT &6ailed GFUISI
(wipdhs  (pigugd. Gweid R 1 Bib 918s Geauemwevenuws 60 BT Heifled  (1p19Hod
(Wwub eaBTed Q-auTed eTdHFHemen BT H6fled DibhH Geouemevenl (WI9HSE (LPIQUILD?

Solution:
Given,
P=Q+R
1
(P +Q)’s1day work = o
R’s 1 day work = 6—10
To find out:

Q=7 days
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1 1

P+Q+R=r+o ~P=Q+R
papo5tl 6 1
~ 60 60 10
1
2P =15
p=t
20
P+Q)=
_1. 1
12 20
_>-3
60
_2_1
60 30
.. Q completes the work in 30 days.
Probability

2. On a particular day a policeman observed vehicles for speed check. The
frequency table shows the speed of 160 vehicles that pass a radar speed
check on dual carriage way

Speed (km/h) |20-29 |30-39 |40-49 |50-59 | 60-69 |70 & above

No. of vehicles 14 23 28 35 52 8

Find the probability that the speed of a vehicle selected at random is
a. faster than 69 km/h

b. between 20-39 km/h

c. less than 60 km/h

d. between 40-69 km/h

b B&m eaufFsmemeoulleol  GMNIIILL @@ BTN  UH  &HTeU6VT
arsamisaial CaussHmsd Gargmer OCFUSTT. SeuT Carghemenr OFulsh 160
ansamiselar Calsmideile HapOales L lguisd HBID OBTHHBLILIL (HETenF).

Goumid (#.15/wewf) | 20-29 | 30-39 |40-49 | 50-59 | 60-69 ZgOLb @@ﬁi@
LDGVILD

GUIT & 60THI 61T 60T 14 23 28 35 52 8

6160016001 b 6M &
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RH UTHOISHMBHF FOaUTUINL (Wewmuled BaHTHOHBHHGID CUTH iFHes
GeussLd

9. 69 & / ewi-y ol HHBOTSH

. 20 A wewiluledmbal 39 S / wewh eueny

8. 60 H.uf / weld@Gd GHmBauTs

F. 40 &S / wewilufedmba 69 S / wewil eueny

eIGAUT(H @LPe0HeNeT HBbSHHalener Hewmr(hLilg

Solution:
Formulae:
m _ Number of cases favourable to theevent A
P(A)=—= :
n Total number of exhaustive cases
(i) Let E; be the event of a vehicle travelling faster than 69 km/h.
n(E;) =8 ie.m =8
Total number of vehicles = 160. i.e. n =160
P(E) =5 =165 = 20

(ii) Let E2 be the event of a vehicle travelling the speed between 20 - 39

km/h.
n(E>) = 14+23 =37 i.e.my=37
2 o 160
(iii) Let E3 be the event of a vehicle travelling the speed less than 60
km/h.

n(E3) = 14+23+28+35 =100 1i.e. m3 =100
™M _ 100 _5
PE) =—2= 180 =2

(iv) Let E4 be the event of a vehicle travelling the speed between 40-

69 km/h.
n(E4) = 28+35+52 =115 ie. md = 115

4 n 160 32
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(i)

Hew&dl E eaeaug ansagdar Gausnd 69 Hlfsmil-0 ol gdswrs

E\miugHETaT HHNFE 66T
n(E) =8 JYGreugl, m, =8
Camgemer Clals Congs surgearmaser = 160. 2y&meug), n= 160
S B
P(El) “n 160 20

(i) Hewsd E, eemugl aunsagglen Gousn 20 &l.bf/iwenflulledmig 39 &5/ el

ueny @mULSDHSETeT HFHEH sTaira

n(E,) =14+23 =37 2igmeugl, m, =37
— 0. 31,
P(E3) “n 160

(i) Blewsd E, eemugl ansagdlen Gousin wenflsg 60 &0 nall & Gmpars

E\miusnamar Hlsns 6.
n(E,) =14+423+28+35=100  oysmeug), m, =100
m

= 9 100 -5
P(E3) n 160 8

(iv) Bansd E, g ansagglear Gougn 40 &.b/wsmflulledlmbg 69 &.b/iosmf]

susny @(mULgmHaETeT HaHp&H eTems.

n(E,) =28+35+52 =115 2gmeugl, m, = 115
-y J15 23
RE) = n 160 32

Page 4

www.appolosupport.com PH: 044-24339436, 42867555



http://www.appolosupport.com/

STATISTICS

3. 30 wmewiTauseen &HICOUewIHeT HC GaThdsiiul (hetener. 41, 55, 48, 47,
53, 48, 33, 32, 42, 55, 44, 38, 60, 65, 71, 80, 41, 53, 47, 48, 55, 20, 31, 34, 42,
51, 35, 35, 26, 25
(o) gui pepuild eI
(&) Hapeusmr UL 1QuIed(H
(®) 10 augly L Beaueflulled OHTLIUTS 6UIHOTHI 6T(LOS).

Marks scored by 30 students are given below 41, 55, 48, 47, 53, 48, 33,
32,42,55,44, 38, 60, 65, 71, 80, 41, 53, 47, 48, 55, 20, 31, 34, 42, 51, 35, 35,
26, 25

(a) Arrange the marks in Ascending order

(b) Arrange the marks as frequency table

(c)Convert the marks into a continuous series of a class-interval of 10.

Solution:
(«) Marks arranged in ascending
order
20 41 51
25 41 53
26 42 53
30 42 55
31 44 55
32 47 55
33 47 60
34 48 65
35 48 71
38 43 80
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Marks Tally marks Frequency

10-20 - -
20-30 I 3

30-40 J}{f I 7

40-50 pff Jyf 10

50-60 yf | 6
||

60-70 2
70-80 | | 2
Total 30
Continuous class frequency
Marks No. of students
10-20 -
20-30 3
30-40 7
40-50 10
5060 6
60-70 2
70-80 2
Total 30
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10 Marks
PROFIT & LOSS

1. A man sells two wrist watches at Rs. 594 each. On one he gains 10% and
on the other he loses 10%. Find his gain or loss percent on the whole.
Brewih  MBHBIQITIHIGET @alCeauTetenmuild ah D94 && @meuT elIBBT,
Reaurty  aImmaHed geipfled 10% eomud w@BmHed 10% BULAPD DleuHDHEG

gBULL G OTHBHHH6L DIaU[HGHEG 6IBLLL G6VTUD V6V BL L FHAIHMHD
SITERIRLD.

Solution
Given : S.P. of the first wrist watch = ¥ 594. Gain% = 10%

100 .
100 + profitd <> °

100
I e S( L
(100 + 10) <7

.. C.P. of the first wrist watch =

=M 504 =7 54
ll0><.)4 < 540.

Similarly. C.P. of the second watch on which he loses 10% is

~ 100 :
- S.P.
(100 — Loss%%)

100
(100 — 10) A 90 X 594 =X 660.

To say whether there was an overall Profit or Loss. we need to find the combined
C.P.and S.P.

Total C.P. of the two watches = 540+ 660 =3 1.200.
Total S.P. of the two watches = 594 + 594 =% 1.188.
Net Loss = 1.200 —1.188 =% 12.

. Loss \(
w0 = =22 %100
Loss% CP. X

= 12+ 100=1%
1200 £
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St
(WS &SHSle SMTHSl6 alilhusnear alilenea

100
100 + [@leomuid %

100
= 1100 1 10y <>

- 100 o 594 _ 7 540,

110
TEOTL TR &S SEMTEHME 10% BLUL&SHl eSlmmm ereafle
g 2 &MSmS 10% BLLSSl allmn
L& ailme = 1o < qil.adl

100 —mL 1D %

S (S0 DEES L SNTSEET WL &5 allena

_ 100 _ 100
(100 — 10) X594 =79,

= gll.edl]

3 594, @laumu Fsaisn = 10%

X 594 =3 660.

Bl&T @loomun meeg GULID o arargT eeruensg GsflhgClemerer, smmidlemeuns

2L 55 allemesw LOMID ailhuemsT aileneeniudg Srenr GalsmoTiy LT,

@\rsoor(h) en& S sMRSaflar Clurds o ss aflame = 540 + 660 =T 1,200.

@irein(h) ensS&spsmrsaflar Curss aflbusmear allens = 594 + 594 =T 1.188.

Cuorss plLm = 1,200 — 1,188 =T 12.
ELLLD
2.6,

s 12 100 - 1%
= lZUUme_U

< 100

UL #5ai5L0
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LCM & HCF

2. L.C.M. of two numbers is 14 times their H.C.F. The sum of L.C.M. and

H.C.F. is 600 if one number is 280 then find the other.
Brewi®h etewidberlent (P.oumio 14 wLmiE f.ouren o e, (.Gur.w,
WW.our.eu alel gl (hdh CFHTensds 600 FHa|D, T elewl 280 Sd SHLIL6T,
LOBOIBIT(H 6160T6N6ITE  SHTEMTRLD.
Solution:
Given,
LCM =14 x HCF
LCM + HCF = 600

One of the Number is 280.

LCM + HCF =600

14 xHCF + HCF = 600
15HCF = 600

HCF =40

LCM =600 - 40 = 560

LCM xHCEF = Product of Two Numbers
560 x 40 = 280 x Other Number

560x40
280

Other Number= 80
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Information and Communication Technology (ICT)

3. Write about MICR, OCR and OMR.
MICR, OCR wsgib OMR giigg eauwpsis.

Magnetic Ink Character Recognition (MICR)

MICR is widely used by banks to process cheques. Human readable
numbers are printed on documents such as cheque using a special magnetic
ink. The cheque can be read using a special input unit, which can recognize
magnetic ink characters. This method eliminates the manual errors. It also saves
time, ensures security and accuracy of data.

Optical Character Recognition (OCR)

The OCR technique permits the direct reading of any printed character like
MICR but no special ink is required. With OCR, a user can scan a page from a
book. The computer will recognize the characters in the page as letters and
punctuation marks, and stores. This can be edited using a word processor.

Optical Mark Reading and Recognition (OMR)

In this method special pre-printed forms are designed with boxes which can
be marked with a dark pencil or ink. Such documents are read by a reader, which
transcribes the marks into electrical pulses which are transmitted to the
computer. They are widely used in applications like objective type answer papers
evaluation in which large number of candidates appear, time sheets of factory
employees etc.

MICR

SMhG 6 6TPSG 2 g (Magnetic Ink Character Recognition MICR)
amdloyr srtGsramesdr amdsae Guflgw vwaTuBEng.

Qe asrCsrene wLWHMWL umd eTaETEHer BIL UgHSHE nlgWl GT6wT

&61, &MHe ewWileme HFFLUULKHEGWL. Qeunenm QwbHrmniser

Uglugerre, seumser GCuorg. Curidang WFsFwLIESIHDI. LI &)

STUUTSEYLD @) (H&H@ELD.
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OCR

speifl aulfl 61&E 2 smTige (OCR - Optical Character Recognition)
STSITETIONG HFFL_UULL  eT(PSGHEHSMET LUMTEHF. ST

au(plguilemmed ULLrE wropuulL egl umtidgl. ibhs oT(WSHSHEsamar

SjeLWnerd sramise  eafleufl erWHFH eI eeiubHL. QEHE

cribgpdlyyr Gume &rhy e Csameulldenc. grgmyem e GuTGLD.

Sl eafl el erpssy o amfledr, @GOLGILL  enwllbld o
SALuul L earpsgssamer WLHWL SENLWTETD STEDID.  LSHSSmISET
Curenmeundled o 6Ter LENSH CTPSHSSEMETD HEOLIWITETD ST EILD
o enifleEmd 2etarer. gy mdlow, SOl Cumerm v  CwomflsensEL
Qngs zearflaser o (paurdsiiul (Heararar. Q65 zeanfladar ULg&HEGW
TPEHHGEMET, LIHDEGET CFULSFIGU 2@mTurs wrHMe L.

OMR
sperfl sulfl @M o smrigey (Optical Mark Recognition - OMR)

gnsaGey @sntsea SApuurs oFfl vl ugaisafle Le
fmy Quligsedar @QmasGw. Csamawrareaundle Gueardflored oo g
enwwilermed Hyiin Ceauerw.  Q@Qonblseany 26rer uglner, 6rbolgnH-
U Quigser Hryuudul (erarer eratuans SaflUCurde@®@s Csifl-
d&@w. Qsame uLTEITssaTSSTa Ugeukisae o wenfl Crrd-
HCawGw ozarefl wyuww. sognfl mpaweays Csiey SenLser
Quwrdflgrer wHLEOLLLBHHamer. Gsmilnsraosaiagwn Crrliud
eyd sreyser Qeueurm SrluhHeud 2 ewr(h.
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01.03.2020 | TIME & WORK, RATIO & PROPORTION,
[3 pm - 6 pm] | NUMBER SYSTEM (BINARY, DECIMAL,
OCTAL & HEXADECIMAL, 1's & 2’s
COMPLEMENT)
Worksheets & Assignment will be issued in Class
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